

Ex 1

calculer

Labyrinthe Fractions mêlées

Start

$5 \times \frac{1}{2} =$ $\frac{3}{2}$ $\frac{7}{8} + \frac{5}{8} =$ $\frac{4}{12}$ $\frac{4}{7} + \frac{1}{4} =$ $\frac{2}{7}$ $\frac{1}{3} \times \frac{1}{4} =$
 $\frac{5}{2}$ $\frac{5}{10}$ $\frac{12}{16}$ $\frac{4}{15}$ $\frac{1}{4}$ $\frac{1}{12}$ $\frac{1}{7}$
 $\frac{8}{10} + \frac{4}{10} =$ $\frac{32}{10}$ $\frac{4}{9} \times \frac{1}{2} =$ $\frac{5}{9}$ $\frac{4}{5} \times \frac{1}{3} =$ $\frac{1}{2}$ $\frac{1}{9} + \frac{1}{4} =$
 $\frac{6}{5}$ $\frac{12}{50}$ $\frac{20}{99}$ $\frac{5}{11}$ $\frac{5}{12}$ $\frac{6}{13}$ $\frac{2}{13}$
 $\frac{6}{10} + \frac{2}{5} =$ $\frac{8}{15}$ $\frac{2}{9} \times \frac{10}{11} =$ $\frac{2}{20}$ $5 - \frac{1}{2} =$ $\frac{9}{2}$ $1 + \frac{1}{2} =$
 $\frac{1}{10}$ 1 $\frac{2}{9}$ $\frac{2}{9}$ $\frac{1}{8}$ $\frac{5}{13}$ $\frac{3}{2}$
 $\frac{1}{2} \times \frac{2}{5} =$ $\frac{2}{9}$ $\frac{1}{6} + \frac{1}{3} =$ $\frac{1}{2}$ $\frac{2}{4} - \frac{3}{8} =$ $\frac{5}{13}$ **Finish**

Ex 2

calculer

Labyrinthe Fractions mêlées

Start

$\frac{3}{5} \times \frac{3}{5} =$ $\frac{3}{5}$ $\frac{6}{10} + \frac{2}{5} =$ $\frac{8}{15}$ $\frac{3}{11} \times \frac{4}{5} =$ $\frac{12}{55}$ $\frac{7}{9} \times \frac{1}{2} =$
 $\frac{9}{25}$ $\frac{6}{10}$ $\frac{1}{2}$ 1 $\frac{7}{16}$ $\frac{7}{18}$ $\frac{7}{11}$
 $\frac{4}{7} \times \frac{3}{4} =$ $\frac{7}{11}$ $\frac{1}{6} + \frac{1}{3} =$ $\frac{2}{9}$ $\frac{1}{8} \times \frac{1}{3} =$ $\frac{1}{24}$ $5 + \frac{5}{7} =$
 $\frac{3}{7}$ $\frac{1}{5}$ $\frac{4}{3}$ $\frac{2}{5}$ $\frac{2}{24}$ $\frac{40}{7}$ $\frac{25}{7}$
 $\frac{8}{9} + \frac{2}{9} =$ $\frac{10}{18}$ $\frac{3}{6} + \frac{5}{6} =$ $\frac{8}{12}$ $4 - \frac{1}{6} =$ $\frac{2}{39}$ $\frac{2}{3} \times \frac{1}{13} =$
 $\frac{10}{9}$ $\frac{21}{4}$ $\frac{3}{28}$ $\frac{4}{5}$ $\frac{23}{6}$ $\frac{3}{6}$ $\frac{1}{5}$
 $7 \times \frac{3}{4} =$ $\frac{21}{24}$ $\frac{2}{7} \times \frac{3}{8} =$ $\frac{5}{40}$ $5 + \frac{1}{3} =$ $\frac{16}{3}$ **Finish**